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QUESTION 1

You have an MX960 configured as a Fusion aggregation device (AD) and two QFX5100 switches as satellite devices
(SD). You have configured local-switchingfor each SD. A packet with an unknown MAC address is received on one of
the SD extended ports. 

Which statement is correct in this scenario? 

A. The packet is dropped and a reject message is sent out to the port where it was received. 

B. The packet is silently discarded and a reject message is sent to the AD. 

C. The packet is flooded out of all the ports on the SD except the one where it was received. 

D. The packet is sent to the AD to be processed and forwarded. 

Correct Answer: D 

 

 

QUESTION 2

Click the Exhibit button. 
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Referring to the exhibit, you configured a new multifield classifier for the ge-1/2/0 interface to move ICMP traffic to the
best-effort queue and traffic from 192.168.20.0/24 to the expedited forwarding queue. You received notice that some
applications are not working after the change. 

Which configuration change will remedy the problem? 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: B 

 

 

QUESTION 3

Which two statements are correct about a functional ESI LAG interface? (Choose two.) 

A. The LACP system ID must be the same. 

B. The ESI values must be the same. 

C. The LACP system ID must be different. 

D. The ESI values must be different. 

Correct Answer: AB 

 

 

QUESTION 4

Click the Exhibit button. 
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Your IS-IS adjacency is not established as shown in the exhibit. What is the problem? 

A. There is an MTU mismatch. 
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B. There is an invalid IPv6 router ID. 

C. There is an area mismatch. 

D. There is an invalid IPv4 router ID. 

Correct Answer: C 

 

 

QUESTION 5

You are deploying IP phones to a customer site. The IP phones will be installed to share a common access port with the
user\\'s desktop computer. You are required to provide a mechanism to place user data traffic and voice traffic in
different VLANs for class-of-service application. 

How would you implement this solution? 

A. Configure flexible VLAN tagging on the user ports with the data and voice VLANs as members. 

B. Apply a multifield classifier on the access ports that assigns voice packets to the assured-forwarding class, based on
the IP phone manufacturer\\'s MAC OUI. 

C. Configure the IP phones to label voice traffic with the DSCP of code point and apply a BA classifier to the access
ports to classify voice traffic. 

D. Configure VLAN tagging on the IP phones and use the voice VLAN feature on the access ports to assign tagged
frames to the voice VLAN and untagged frames to a data VLAN. 

Correct Answer: D 
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